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Chapter 10

EXAMPLE

The OCAI is usually carried out twice; once for “current state” and once for 
“desired state”.

If we take, as an example, topic 2, which concerns the leadership style, then 
there are four options for answers. The person completing the OCAI must, there-
fore, allocate 100 points between the four options. For example, it could be A 
= 50 points, B = 20 points, C = 20 points and D = 10 points. Thereby, each 
person completing the questionnaire provides 24 points for the current state 
and 24 points for the desired state. If A has received the most points on average 
(measured over all six questions and by all interviewed persons), the preferred 
form of the organization can be classified as being a clan.

In the following, we will review an example of the use of the competing 
values framework and the OCAI schema.
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The average reached is shown in the figure 
here:

Flexibility, discernment, and dynamism

Stability, order and control

Internal  
orientation,  

unity and  
agreement

External  
orientation, 
diversity  
and rivalry

CLAN ADHOCRACY

HIERARCHY MARKET

NOW

DREAM

Organization and people_tryk.indd   490 13-03-2020   10:23:05

FIGURE 10.34
CVF, now and dream.� © Praxis – Nyt Teknisk Forlag 2020

194016-1.indd   284 4/18/2020   1:45:31 PM


